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Following the first few years of teaching and assessment, OCR has refreshed our A Level in
Economics specification ensuring that our content is as up-to-date as possible. We have
also removed some content to allow our specification to be delivered more comfortably in the
time available.

Due to this some questions in this paper are no longer applicable to our specification. These
are now clearly marked by strikethrough. For example: Fhis-is-ho-longerincluded-:

We haven’t made any changes to the structure of the assessments, or the types of
guestions that will be asked. The number of marks, number of questions and the split of
assessment objectives will all remain as outlined in this sample assessment paper.

For this paper 1 question is no longer valid:
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Read the following stimulus material and answer all parts of question 1 which follow in

Cement is mainly used to make concrete and accounts for approximately 45% of its production cost.
The most common type of concrete is ready—mix concrete. This is a mixture of cement, granular raw
materials and water. In 2009 the sales of cement in the UK totalled £0.9bn and the sales of ready—mix
concrete came to £1bn. In the same year the output of cement was 7.6m tonnes and the output of
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SECTION A

this section.

Developments in the UK cement and ready—mix concrete markets

ready—mix concrete was 14m tonnes.

Over the last 20 years, a high number of mergers have reduced the number of firms in both markets
and combined firms producing both cement and ready—mix concrete. In 2009 the three largest firms in
the cement market, Lafarge, Cemex and Hanson, produced 6m tonnes of concrete between them.

Large firms also play a key role in the market for ready—mix concrete. Fig. 1 shows the market shares of

the five largest ready—mix firms in 2009.

The large firms, all of which are multinationals, concentrate on producing building materials. Each owns
guarries which extract granular raw materials. Their factories involved with the production of concrete
sell some of their output internally to other parts of their business. Some is also sold to other firms,

Fig. 1 — UK shares of ready—mix concrete volumes, 2009
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including small firms which just produce ready—mix concrete.
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There is little difference in the quality of both the cement and ready—mix concrete produced by the
different firms. In the markets for both cement and concrete the large firms have considerable
information about the pricing and output strategies of their rivals. This information comes from, for
example, buying and selling to each other and details provided in planning proposals.

In both the markets for cement and concrete, there are a number of significant barriers to entry and exit
which give incumbent firms protection from the potential entry of new firms. There are high set up costs
with, for instance, a cement factory costing as much as £100m to build. In addition, there are thought to
be significant economies of scale available to the larger operators.

In 2010 and 2011 the Office of Fair Trading (OFT) undertook a study of the cement and ready—mix
concrete markets. There was concern about the lack of competition and possible co—ordination of
market strategies undertaken by the large firms. Small ready—mix concrete firms told the OFT that they
were being charged high prices for cement by the large firms, while having to compete against the low
prices the large firms were charging for their own ready—mix concrete. They suggested that the large
firms were prepared to accept lower profit margins on ready—mix concrete knowing that they could still
make a high level of supernormal profit producing cement. These smaller firms claimed that such a
strategy, which became particularly evident in 2009, was designed to drive them out of business. Figs 2
and 3 show how the average revenue and average cost changed in the markets for cement and
concrete between 2006 and 2010.

Fig. 2 — Cement — average revenue and average cost per tonne
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Fig. 3 — Ready—mix concrete — average revenue and average cost per cubic metre
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In 2013 a merger took place between Lafarge and Tarmac but to gain permission from the regulatory
authorities for this merger, the firms had to agree to sell off some of their quarries and factories to a new
entrant, Hope Construction Materials. In early 2014 the Competition Commission ordered the newly

merged firm, Lafarge Tarmac, to sell off more factories to create another major entrant.

It is likely that future years will see further changes in the markets for cement and concrete — nothing is

set in stone.
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(b) Explain, using relevant calculations, whether the cement market was more
concentrated or less concentrated than the ready—mix concrete market in 2009.

(c) Large firms were accused of more actively trying to drive the smaller firms out of
business in 2009 and 2010 than in 2007 and 2008.

Using Figs 2 and 3, explain what evidence there is to support this view.
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(d) Firms in the ready—mix concrete market specialise in one product.

Evaluate whether economies of scale can only be enjoyed by firms which
specialise in a narrow range of products.
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(e)*  Using evidence from the stimulus material, evaluate the extent to which collusion
occurred in the UK cement market.
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SECTION B
Answer EITHER question 2 OR question 3.
EITHER

Some top UK executives are paid more than 1000 times the average wage paid to
workers in their firms.

Evaluate, using an appropriate diagram(s), whether a maximum wage should be imposed on
executive pay in the UK.

[25]
OR
In 2014, Telefonica, a Spanish telecommunications firm with a very large share of the
Spanish market, decided to concentrate largely on increasing its sales revenue.
Evaluate, using an appropriate diagram(s), the extent to which a monopolist changing its
objective from profit maximisation to sales revenue maximisation would benefit consumers.

[25]
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SECTION C
Answer EITHER question 4 OR question 5.
EITHER
4 In the UK 7% of children are privately educated compared with 24% in Japan.
Evaluate whether the provision of education should be left solely to market forces.
[25]
OR

5* In 2013 food prices in many parts of the world rose relative to other products, including air
travel.

Evaluate the extent to which the price of food is likely to rise by more than the price of air travel
in the future.

[235]
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